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A ¢ AT 360 &ME36. 0 GLA—nL: OUT1 4 5 6 8 O
IN10 12 15 16 17 18
RS WIREA ATy K X— 3
EH=a—2A 2PN M5 N R4 N AEFI69A
BN E i T 4 AEAH
BGL | N K4 OUT IN |GROSS| HDCP | NET | crosshf: % BT | BInFE K4 OUT IN |GROSS| HDCP | NET |crosshsif: e
1R =5 38 44 821 12.0 |70.0 TR 51 ST BaE 44 52 96/20.4 | 75.6 81
o|gERE =1# 40 45 85| 14.4 | 70.6 15| MEE DS 52 [FTEs H K 50 45 95/19.2 | 75.8 71
3 HAJH E— 43 39 82/ 10.8 | 71.2 7| 3L 53|t B 48 47 95/19.2 | 75.8 71
A\ B 40 41 81| 9.6 |71.4 3|4 54| A — 50 45 95/19.2 | 75.8 71
5k x AR wE 42 44 86| 14.4 | 71.6 22| 5{\f 552 H A 46 49 95/19.2 | 75.8 71
6/ kE)E JEK 46 44 90(18.0 | 72.0 43| 6 fr 56 [{HFH F 44 51 95/ 19.2 | 75.8 71
[APSTIERISS 39 42| 81| 8.4 [72.6 3| 7L BT Ve & 38 38/ 76| 0.0 |76.0 1
S|IERE FIE 40 41 81| 8.4 |72.6 3| 81 58| H B s 40 42 82| 6.0 |76.0 7
9 KM & 45 53 98] 25.2 | 72.8 99| 9 fir 59 [FaA FS1H 39 49 88/ 12.0 176.0 31
10 KH £k 38 41 79| 6.0 |73.0 2|1 047 60 B FHA 47 41 88/ 12.0 |76.0 31|
11 ERE & 40 45 85/ 12.0 | 73.0 15 6141 #J 41 47 88/ 12.0 176.0 31
12 7858 B 41 43 84| 10.8 | 73.2 13 62| fitja BA 45 49 94/ 18.0 |76.0 67
1378y Fpk 43 47 90| 16.8 | 73.2 43 63|FF F 46 54| 100/ 24.0 |76.0 109
14|80 —A 46 44 90| 16.8 | 73.2 43 64 ok H— 43 44 87/10.8 | 76.2 26
15 & — 40 43 83| 9.6 |73.4 12 65 |PEikE & 41 46 87/10.8 | 76.2 26
16 K% +— 45 44 89| 15.6 | 73.4 37 66 |AEH HE—Al 42 51 93| 16.8 | 76. 2 59
17|12 BAR 44 45 89| 15.6 | 73.4 37 67| 51E Af)A 47 46 93] 16.8 | 76.2 59
18| #hyR 40 41 81| 7.2 |73.8 3 68 |ZE S & 50 49 99]22.8 | 76.2 107
19 L% £ 44 43 87| 13.2 | 73.8 26 69 |EfE X 44 42 86| 9.6 |76.4 22
20 751 FIE 41 46 87/13.2 |73.8 26| TRE 70| A 2 49 43 92| 15.6 | 76.4 54 | FHEE
21 &1L —4 46 47 93/19.2 | 73.8 59 TR EET 46 46 92| 15.6 | 76.4 54
22| i t-j= WEHI 45 48 93/19.2 | 73.8 59 12|75/ SERK 45 53 98| 21.6 | 76.4 99
23| HAJH FE=E 44 49 93] 19.2 | 73.8 59 T3 RKK WD 50 54| 104/ 27.6 | 76.4 129
24 1k i 44 48 92/ 18.0 | 74.0 54 T4 HIE FE— 43 42 85| 8.4 |76.6 15
25 | K I 47 45 92| 18.0 | 74.0 54 75 Nk rad 42 43 85| 8.4 |76.6 15
26 | B2 f— 40 45 85/ 10.8 | 74.2 15 76| ik BH 45 52 97/20.4 |76.6 88
27 WeRE 17)A 48 49 97|22.8 | 74.2 88 77 \WEE S5 46 51 97/20.4 |76.6 88
28 H F Vs 46 51 97|22.8 | 74.2 88 818K BEEZ 51 46 97/ 20.4 | 76.6 88
29 /NE E 42 42 84| 9.6 | 74.4 13 19Ex K —IF 50 52|  102]25.2 | 76.8 118
30 |1 Kots 42 48 90| 15.6 | 74.4 43 TRE 80 |BLILI f#% 46 43 89/ 12.0 | 77.0 37|
31|E E A 52 50|  102]27.6 |74.4 118 81| HA I 47 48 95/18.0 | 77.0 71
32181 b1 46 43 89| 14.4 | 74.6 37 82| L H 1% 39 49 88| 10.8 | 77.2 31
33 MM FH=e 45 44 89| 14.4 | 74.6 37 83 | fk Feol 49 45 94| 16.8 | 77.2 67
34| H Zh 44 45 89| 14.4 | 74.6 37 84| K BEFn 48 46 94| 16.8 | 77.2 67
35| Hbt HFE 41 41 82| 7.2 |74.8 7 85| 7k 1% 50 50/ 100]22.8 | 77.2 109
36 |1k A 43 39 82| 7.2 |74.8 7 86|/ NEFF i 46 41 87| 9.6 | 77.4 26
37| HA-Jd. RIEER 43 45 88| 13.2 | 74.8 31 87 ik BN 52 53| 105]27.6 | 77.4 134
38| A Famk 48 46 94| 19.2 | 74.8 67 88| H K= 51 53| 104|26.4 | 77.6 129
394+ 1IE 45 48 93/18.0 | 75.0 59 89| K &1 47 44 91]13.2 | 77.8 49
40 B[S B 45 48 93]/ 18.0 | 75.0 59 | TRRE 90 %A BG— 44 47 91]13.2 | 77.8 49| TR E
417 H E— 43 43 86| 10.8 | 75.2 22 1| THE th— 42 55 97/19.2 |77.8 88
42 M 5 44 42 86| 10.8 | 75.2 22 92 |FE0 [ 55 54| 109|31.2 | 77.8 144
43 | #EW AT 44 48 92| 16.8 | 75.2 54 03 |efk &H— 43 47 90/ 12.0 | 78.0 43
44| 1ERE T 51 47 98] 22.8 | 75.2 99 94 =48 BB 49 47 96| 18.0 | 78.0 81
45 )1 FofE 43 42 85| 9.6 |75.4 15 95| HE B 48 54| 102/24.0 | 78.0 118
46 |F F —Hk 43 42 85| 9.6 |75.4 15 96| &1 BHE 51 44 95| 16.8 | 78.2 71
47 A1) JREE 45 46 91| 15.6 | 75.4 49 97 /NI =] 50 45 95| 16.8 | 78.2 71
48| H+E ik 38 53 91| 15.6 | 75.4 49 98 |FArER V% 52 49| 101]22.8 |78.2 114
49 [fhEE Gk 58 51| 109]33.6 | 75.4 144 99| Erd #8 46 54|  100]21.6 | 78.4 109
50|45 By fE 45 45 90| 14.4 | 75.6 43| TRE 100 H #73% 51 42 93] 14.4 | 78.6 59 | FREE
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BAL | BInE K4 ouT IN |GROSS| HDCP | NET | crosshi fif%E EAL | BInE K4 ouT IN |GROSS| HDCP | NET |crosshi e

101 7 H — = 47 52 99/ 20.4 | 78.6 107 151 |1k FhE 54 60/ 114]30.0 [84.0 154
102 |5 Rij e 49 49 98] 19.2 | 78.8 99 152 | [ 5 #h1- 57 63| 120]36.0 |84.0 165
103 | A &7 49 49 98] 19.2 | 78.8 99 153 |#ER% HEWR 60 53| 113]28.8 |84.2 152
104|208 A+ 52 52| 104]/25.2 | 78.8 129 154 | Hi%E L= 49 57| 106]21.6 | 84.4 137
105 U H (B 48 50 54| 104|25.2 | 78.8 129 1551k K2 53 59| 112/27.6 | 84.4 150
106|408 (s 51 46 97/ 18.0 [ 79.0 88 156|WHE F+C 54 44 98] 13.2 |84.8 99
107 gk B 53 50/ 103/24.0 |79.0 126 157 )1 fdE— 59 57/ 116/31.2 | 84.8 159
108122 A Fiews 51 51| 102]22.8 |79.2 118 158 | gk Hhg 58 51| 109]24.0 | 85.0 144
109 i IE& 51 50| 101/21.6 |79.4 114 159 |25k EiR 53 52| 105/ 19.2 |85.8 134
110 i/, B= 50 51| 101/21.6 |79.4 114|788 160 (3R EH3E 59 59| 118/31.2 |86.8 163| 7 E
111\ 55k &aE 54 47]  101]21.6 | 79.4 114 161 e 2 K 2247 50 60| 110/22.8 [87.2 147
112/ 4N # 53 54| 107]27.6 |79.4 141 162 KJt #li 56 54| 110]/22.8 |87.2 147
113 i t-f= HWs 46 42 88| 8.4 |79.6 31 163 AT JIE— 57 59| 116]28.8 |87.2 159
114|ES 3% 50 50/ 100]20.4 | 79.6 109 164|& 7 1E1 58 54| 112]22.8 |89.2 150
115 7% B 49 57|  106]26.4 |79.6 137 165 | [ 358 e 57 61| 118]/28.8 |89.2 163
116 Rk fli— 48 50 98/18.0 |80.0 99 166 |25k T8k 61 64| 125/33.6 |91.4 166
11788 W5k 46 45 91| 10.8 | 80.2 49 167 | B354 1Ef0 61 67| 128]34.8 |93.2 169
118 |Bri5B AP BRAS 45 52 97| 16.8 | 80. 2 88 168 [ FIA 1E ] 55 71] 126]31.2 |94.8 168
119| E¥ FnE 51 46 97/ 16.8 |80.2 88 169 JHig B2— 64 61| 125/27.6 |97.4 166
120 /NBp3F —1H 49 47 96| 15.6 | 80.4 81| TE
121 |5 SRR 52 44 96| 15.6 | 80. 4 81
122 BB AME 50 46 96| 15.6 | 80.4 81
123|787 ¢ 49 47 96| 15.6 | 80.4 81
124| S BFR 46 56| 102/21.6 |80.4 118
125\ B 49 53| 102|21.6 |80.4 118
126 |15k sE— 51 57| 108/ 27.6 |80.4 142
127 [fhék 5 50 56/ 106]25.2 |80.8 137
128|BUK T-Hl 56 55/ 111]30.0 |81.0 149
129| KH 3k —BR 43 54 97| 15.6 | 81.4 88
130/M11 7 46 50 96| 14.4 | 81.6 81 TE
131 K+ JEF 49 65| 114/32.4 [81.6 154
132/ K|\ T & 58 56| 114]/32.4 |81.6 154
133 =R 47 48 95| 13.2 | 81.8 71
134|H#T FIJBA 54 52| 106]24.0 |[82.0 137
135 JH L % 45 52 97| 14.4 | 82.6 88
136 | Bk etk 53 49| 102]/19.2 |82.8 118
137 |frEs 2276, 53 55| 108]25.2 |82.8 142
138|A)11 2 46 49 95| 12.0 [ 83.0 71
139 & FE— 53 60/ 113/30.0 |83.0 152
140 |Fr58 —E 48 52| 100] 16.8 | 83.2 109| 78 E
1412 H Fni& 51 54| 105/ 21.6 |83.4 134
142 KH &1 47 51 98| 14.4 | 83.6 99
143 ks FnBH 51 53| 104]/20.4 [ 83.6 129
144 FH OAF 57 59| 116]32.4 [83.6 159
145+ 54 55 61| 116]/32.4 [83.6 159
146| LT E, —2 48 55| 103/ 19.2 [83.8 126
1473t 185 46 57| 103/ 19.2 [83.8 126
148K & 48 54| 102]18.0 | 84.0 118
149 Lk B 54 60| 114]/30.0 |84.0 154
1502 H #&3E 64 50/ 114/30.0 |84.0 154 | FEE
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